
Contract Verbs — Summary

The Rules on Contraction (Pages 135-138)

The Big Five

1. eo, oe, oo ÿ ou poieomen ÿ poiou'men
plhroete ÿ plhrou'te

2. ee ÿ ei poieete ÿ poie'te

3. o or w + vowel ÿ w     except rule #1 ajgapaomen ÿ ajgapw'men
ajgapaousi ÿ ajgapw'si

4. ae ÿ a ajgapaete ÿ ajgapa'te
ajgapaei ÿ ajgapa'/

5. ea ÿ h poiesai ÿ poieai ÿ poihi ÿ poih'/

Other Rules on Contraction

6. oei ÿ  oi (this combination occurs in the second and third person singular of an
omicron contract verb).

7. The Contraction of Diphthongs

a. What happens with a diphthong depends upon whether the contract vowel and the
first vowel of the diphthong are the same or different vowels.

b. If the contract vowel and the first vowel of the diphthong are the same, they simplify
(i.e., one of the double letters drops out).

eei ÿ ei
oou ÿ ou

c. If the contract vowel and the first vowel of the diphthong are different, they contract.
If the second vowel of the diphthong is and iota, it subscripts if possible; if it is an
upsilon it drops off.
aei ÷ a/ eou ÿ ou (e + ou ÿ ouu ÿ ou)

8. Contract verbs contract as if the true personal endings are those visible in the present
active indicative.

ajgapaw

1 sg ao ÿ ajgapw' 1 pl aomen ÿ ajgapw'men

2 sg aei" ÿ ajgapa'/" 2 pl aete ÿ ajgapa'te

3 sg aei ÿ ajgapa'/ 3 pl aousi ÿ ajgapw'si
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Present Active Indicative

ajgapavw poievw plhrovw

ajgapw' (ao) poiw' (eo) plhrw' (oo)1

ajgapa'/" (aei") poiei'" (eei") plhroi'" (oei")

ajgapa'/ (aei) poiei' (eei) plhroi' (oei)

ajgapw'men (aomen) poiou'men (eomen) plhrou'men (oomen)

ajgapa'te (aete) poiei'te (eete) plhrou'te (oete)

ajgapw'si (aousi) poiou'si (eousi) plhrou'si (oousi)

  Since no personal ending is used, the connecting vowel lengthens to compensate. The1

ensuing contraction is between the contract vowel and the lengthened connecting
vowel (plhro + o ÷ plhro + w ÷ plhrw').

Present Middle/Passive Indicative

ajgapavw poievw plhrovw

ajgapw' (ao) poiw' (eo) plhrw' (oo)1

ajgapa'/" (aei") poiei'" (eei") plhroi'" (oei")

ajgapa'/ (aei) poiei' (eei) plhroi' (oei)

ajgapw'men (aomen) poiou'men (eomen) plhrou'men (oomen)

ajgapa'te (aete) poiei'te (eete) plhrou'te (oete)

ajgapw'si (aousi) poiou'si (eousi) plhrou'si (oousi)

Imperfect Active Indicative

ajgapavw poievw plhrovw

hjgavpwn (aon) ejpoivon (eon) ejplhvroun (on)

hjgavpa" (ae") ejpoivei" (ee") ejplhvrou" (oe")

hjgavpa (ae) ejpoivei (ee) ejplhvrou (oe)

hjgapw'men (aomen) ejpoiou'men (eomen) ejplhrou'men (oomen)

hjgapa'te (aete) ejpoiei'te (eete) ejplhrou'te (oete)

hjgavpwn (aon) ejpoivoun (eon) ejplhvroun (on)
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Imperfect Middle/Passive Indicative

ajgapavw poievw plhrovw

hjgapwvmhn (aomhn) ejpoiouvmhn (eomhn) ejplhrouvmhn (oomhn)

hjgapw' (aou) ejpoiou' (eou) ejplhrou' (oou)

hjgapa'to (aeto) ejpoiei'to (eeto) ejplhrou'to (oeto)

hjgapw'meqa (aomeqa) ejpoiou'meqa (eomeqan) ejplhrou'meqa (oomeqa)

hjgapa'sqe (aesqe) ejpoiei'sqe (eesqe) ejplhrou'eqe (oesqe)

hjgapw'nto (aonto) ejpoiou'nto (eonto) ejplhrou'nto (onto)

The contract vowel lengthens before a tense formative

Future Active Indicative

*ajgapa + s + w ÷ ajgaphvsw

*poie + s + w ÷ poihvsw

*plhro + s + w ÷ plhrwvsw

Aorist Active Indicative

*ajgapa + sa + w ÷ ajgaphvsa

*poie + sa + w ÷ poihvsa

*plhro + sa + w ÷ plhrwvsa

Future Passive Active Indicative

*ajgapa + sa + w ÷ ajgaphqhvsomai

*lalevw + sa + w ÷ poihqhvsomai

*plhro + sa + w ÷ plhrwqhvsomai

Aorist Passive Indicative

*ajgapa + qh + n ÷ hjgaphvqhn

*poie + qh + n ÷ ejpoivhqhn

*plhro + qh + n ÷ ejplhrwvqhn


